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B Grey line: exponential fit Peak flux: 1.065+/- 0.358 c/s/cm? ]
- Black line: power law + gauss fit Fluence : 7.58+/- 3.08 c/cm? —
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B Best fit model: 1. B
- Best fluence mpdel: -
s Best duration madel; 1. ]
= WH M ¥ HHHHH _\H } M il | HH\“_ I \)I“ W | _}_M_ 1
R LR G L
; Exponential fit é
= Expon.time: 6.50+/- 3.25s (chi*red= 1.03) =
= m b b bt gl W ettt e
= | M ﬁw NWH W%w ﬁﬁ Ww MM ﬂm +W###+H#2ﬁﬁwHMHHHﬁ w WW uﬁﬂﬂwﬂw I ﬁﬂj HHMH Wﬁ%ﬂ WWH{HW% ﬁﬁﬂﬂm WM% H%Mﬁ%ﬂw WE
; Power law fit é
E Power law index: -1.690+/- 0.657 (chi*red= 1.03) =
= i Wb b b b bl b b b TE
= h Wﬁﬂ it Wﬁ b *HHM ﬁj ww ﬁHﬂH ﬂm ++ﬁ++%++++*ﬁﬁHﬁﬁHMHHHH ! mﬂﬂ w#ﬁ# wﬂﬂ i m H{WﬂHWHHQ WHW HW ﬂﬁwﬁﬂ Mﬂﬂﬁﬁ th mﬂw&w ﬁﬁ%
i‘ T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 14.89+/-10.93 s, fracgs= 0.58+/- 0.64) =
= Power law index: -3.606+/- 5.610 (chi’-red= 1.03) 3
= i b b bt A 1t e
= i *Hﬂﬂw*ﬁﬁﬁWﬁHﬂM +W+“ﬂH#}Wﬁﬂ“+++ﬁﬂ+ﬁmH+#WWﬂwﬁﬁﬁﬁﬁﬂﬁ*Hﬁﬁﬁﬂuﬂﬁﬁﬂwﬂ@mﬂmwﬂﬁmﬂﬁm WWHﬁWﬁﬁw =
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L ;

0 100 200 30

Time [s]



